	Test problem
	    Problem size        |S|      |A|      |O|
	                    Error bound

    10.0                1.0                0.1

Secs.   Iter.    Secs.  Iter.    Secs.  Iter.

	Machine maintenance

(Smallwood & Sondik ‘73)
	  3        4         2
	   289   142

      7       7
	  827   372

    11       9
	 1363   601

     13     10

	4x3 grid navigation

(Parr & Russell ’95)
	12        4         4
	      2       4

      1       2
	 8947     17

   862       6
	59635    62

  4860      9

	Shuttle docking

(Chrisman ’93)
	  8        3         5
	17011    30

     75      6
	21659    71

    148      7
	26119  116

    247      8

	Network monitoring

(Littman ’96)
	  7        4         2
	10448    66

    111      7
	19040  111

    784    11
	27815   156

 1493      14


